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Note : There are two sections in this paper. All the questions of 

Section-A are compulsory. Answer any three questions 

from Section - B. 

SECTION - A 

1. 	Below are 10 multiple choice questions. Select best 

choice as your answer. Each question carry 

2 marks. 	 10x2=20 

(a) Which of the following register keeps track 

of instruction to be executed ? 

(i) AL 	(ii) PC 

(iii) MAR 	(iv) None of these 

(b) ROM stands for : 

(i) Read Only Memory 

(ii) Ring Object Model 

(iii) Rest Of Memory 

(iv) None of these 
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(c) The largest, fastest and most expensive type 

of computer is : 

(i) 	Server 	(ii) Mini Computer 

(iii) Laptop 	(iv) Super Computer 

(d) The most commonly used output device is : 

(i) Keyboard (ii) Mouse 

(iii) Monitor (iv) Printer 

(e) A mouse is the example of 	 
device. 

(i) Pointing (ii) Input 

(iii) Storage (iv) Multimedia 

(f) The term multimedia refers to : 

(i) Combination of sound, text and 
image. 

(ii) Graphics only 

(iii) Image only 

(iv) Sound only 

(g) A individual dot on a computer screen is 
called : 

(i) 	Font 	(ii) Focus Point 

(iii) Pixel 	(iv) Character 

(h) The process of writing computer instruction 
is called : 

(i) Coding (ii) Testing 

(iii) Typing (iv) Debugging 
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(i) A LAN stands for : 

(i) Local Area Network 

(ii) Large Area Network 

(iii) Latest Area Network 

(iv) None of these 

(j) 

	

	 is a DBMS package. 

(i) Access (ii) Oracle 

(iii) DB2 	(iv) all of these 

	

2. 	Explain the followings in context of computer 
2x5=10 

networks. 

(a) Digital and Analog Signal 

(b) EDI 

	

3. 	(a) Explain the concept of pipelining with an 
	

5 

example. 

(b) What is magnetic tape ? 	Explain 	5 

advantages of using magnetic tape. 
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SECTION - B 

4. (a) What is multiplexer ? Explain the use of 10 
multiplexer with the help of a diagram. 

(b) What is Operating System ? Explain need 10 
of Batch Operating System with suitable 

example. 

5. (a) What is cryptography ? Explain any two 10 
methods of cryptography. 

(b) What is computer virus ? Explain how a 10 
computer virus may affect the working of a 

computer. 

6. (a) What is DTP ? Explain advantages of using 10 
MS - Word for DTP. 

(b) What is MS - Paint ? Explain different uses 10 
of MS - Paint. 

7. Write short notes on the following : 

(a) CASE Tools 

(b) Any two Switching Techniques 

(c) Parallel Processing 

(d) Components of GUI 

4x5=20 
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(i) AL 	(ii) PC 

(iii) MAR 	(iv) TH-14 

(b) ROM TI 3I2 t : 

(i) Read Only Memory 

(ii) Ring Object Model 

(iii) Rest Of Memory 

(iv) 7914 W)1 
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(c) 	 34IT Tr--443Tf i err 

t : 

(i) 	4 	ch 	fqt cb 

AlTat 	(iv) TR chi -1-te-t 

(d) 	3TR 317-1*1 f9-414 1-1-*11-  : 

(i) 	71-aF 	H I d.k-f 

(iii) 1:1-19t7 	(iv) trcra-T 

(e)   	Ifq?1 	dqiour t 

(i) 	 (ii) 	f97i 

itTRuT 	(iv) H k-e.4-11 SCI 	f  

(f) 	 44q-  : 

(i) m .1 4,4 t Tf-t-A-9-  4 I 

(ii) *To-  i)114)1+r 4 I 

tqF 	 4 

(iv) ta-.  Tq 

(g) 
	

1,4-u 	fi-1-9 	 t : 

(i) 	 (ii) 	-FT-1 

-f:PR, rr 	(iv) k11 	ch 

(h) 	ch 4-L4 	3TIkT 	ci;) -9r-wzrr 	r d1 	: 

(i) 

dcb ul 	(iv) 	1■14-11,11 
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(i) 	LAN ft 3-10 t : 

(i) Local Area Network 

(ii) Large Area Network 

(iii) Latest Area Network 

(iv) 	 

	DBMS 4-7 t 

(i) 3-1-51771 (ii) afftWF 

(iii) DB2 	(iv) T114 

	

2. 	4a4f .f Til.f 	114-*iki1 cfTizrq 	
2x5=10 

(a) 3fr3 31-1FEI Titd 

(b) EDI 

	

3. 	(a) 	dqitul 	chimi 	3-1-qt1177 -MIS? 	I 	5 

(b) 

	

	 44-11 	TT-47:f tc1 -51747 T-T4 
	

5 

OPT A-d1- 7 I 
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3T-T4TTT - /3.  

4. (a) 

	

	cigti41cic c i t? 51q11,11411) k-11qc11 	GitH doh 	10 

TizTT 	 

(b) 	 t? 	m'atc-i-I 31-r-47q*-dr 10 

	

74 	 

5. (a) TO. 	Tif t ? 	.k{T9' m1 	iff rarwri 10 

I 

(b) 	 cur t?  	c4 4-t 	10 

ch,&uf 	a-,4-,-le..qr- t74 31-TFr—d-ff WT-dr 

6. (a) DTP ctit t? DTP t cit.; MS - Word 747 10 

W{r4 	0114 	 

(b) MS - Paint 'ITT t? MS - Paint t 547-fill 10 

7. f- 	fq-cm'fta4 -447Rfkii4f-o741 

(a) CASE 

(b) t switching cich ch 

(c) Parallel Processing 

(d) GUI t chi4-k-Pe. 

4x5=20 
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